
Name:
Quiz 21 MATH 200

April 14, 2022

1. lim
x→ 0+

(1 + x)1/x= lim
x→ 0+

eln(1+x)1/x= lim
x→ 0+

e
1
x
ln(1+x)= lim

x→ 0+
e

ln(1+x)
x = lim

x→ 0+
e

1/(1+x)
1 = lim

x→ 0+
e1/(1+x) = e1 = e

↑ ↑
0
0

LH

2.

∫ (
8x3 − 1

x2
+ x

)
dx =

∫ (
8x3 − x−2 + x

)
dx = 8

x4

4
− x−1

−1
+
x2

2
+ C = 2x4 +

1

x
+
x2

2
+ C

3.

∫ (
π sin(x) + 4

)
dx = −π cos(x) + 4x+ C

4.

∫ (
5
√
x+ ex

)
dx =

∫ (
x1/5 + ex

)
dx =

x1/5+1

1/5 + 1
+ ex + C =

x6/5

6/5
+ ex + C =

5 5
√
x
6

6
+ ex + C

=
5x 5
√
x

6
+ ex + C



Name:
Quiz 21 MATH 200

April 14, 2022

1. lim
x→ 0+

(1 + x)1/x= lim
x→ 0+

eln(1+x)1/x= lim
x→ 0+

e
1
x
ln(1+x)= lim

x→ 0+
e

ln(1+x)
x = lim

x→ 0+
e

1/(1+x)
1 = lim

x→ 0+
e1/(1+x) = e1 = e

↑ ↑
0
0

LH

2.

∫ (
10x4 + 2x2 − x+ 1

x

)
dx = 10

x5

5
+ 2

x3

3
− x2

2
+ ln |x|+ C = 2x5 +

2

3
x3 − 1

2
x2 + ln |x|+ C

3.

∫ (
1 + sec2(x)

)
dx = x+ tan(x) + C

4.

∫ (
5ex +

√
x
)
dx =

∫ (
5ex + x1/2

)
dx = 5ex +

x1/2+1

1/2 + 1
+ C = 5ex +

x3/2

3/2
+ C = 5ex +

2
√
x
3

3
+ C

= 5ex +
2

3
x
√
x+ C


